2w A
) 1 EREFEREE
() 1 [FEEREEERRE

® H Ko WO E R il : "
x| E H X & & K
+m 1 +m % 1 T
1 R B %K KB ¥ 3, 158, 082 3, 229, 851 AT1, 769 A2.2
1 E B E K KB ¥ 3, 158, 082 3, 229, 851 AT1, 769 A2.2
1 — W R m F 3, 154, 979 3, 225, 275 A0, 296 A2.2 1 =G D 2,083,029 | 1 EEBMNEHRERHS 2,083,029
EOR & B R BB BOE BB o
2 RSy 645,552 | 1 ZEHEHEIESHIBRERHS 645, 552
BOE BB S
3 dlE A 4 5y 232,314 | 1 NEMHSHRERHS 232,314
BOE BB S
4 [E RS AT E Oy 139,033 | 1 EEMBTEDEMHEHS 139, 033
T KB 4y
5 tREHEEReSy 38,680 | 1 #HEISEHEXIESDEMEHS 38, 680
T A 4y
6 I #E AT A oy 16,371 | 1 &S g 16, 371
TN KB Sy
2 B OB O R B oF % 3,103 4,576 A1,473 AN32.2 1 EEGME D 1 1 EEBRMEIEERHS 1
E R O B O BB BOE R OE
2 VRIOARE) 1| 1 #UEREXELSRERNS 1
BOE GRS
3 M EMA A 1| 1 NERAESSEFEERS 1
B )
4 B E 1,680 | 1 EEBAELEMEES 1,680
O M B oy
5 RIS 856 | 1 #HUEHEIIESSHNEES 856
O M By
6 I LT 40y 564 | 1 &S HEIRES 564
O AR B
2 — il = H 4 103 103 0 0.0
1 — gl = H 4 103 103 0 0.0
1 — B EmE — o Aans 101 101 0 0.0 1B E 5 00 | 1 BES 100
2 WO MR 1| 1 #gss 1
2 IRk ORBRE A E S 2 2 0 0.0 1B E 5 1| 1 BEH 1
2 WO MR S 1| 1 &igss 1
RN Y S I S S O N SR G 51 1,815 1,714 101 5.9
1 F P Bt 1,815 1,714 101 5.9
1 % % + ' A 1 1 0 0.0 1 %% T B 1| 1 ERBEAREREMSIAFTHH 1

() 3 MR O Ak
(1 TR

,31,



€-9)

3 BEATER R OFEokt

(E) 1 FEE
& H .. -
— FOE AT L i HEIER
x| E H
M M M %
3| 1] 2 & 12 T # £t 1,814 1,713 101 5.9
4 K¥ x H 4 9,221,919 9,251, 323 A29, 404 A0. 3
1 Kf i B 4 9,221,918 9,251,322 A29, 404 A0, 3
1 B & B XL % 4 9, 208, 351 9,237,909 A29, 558 A0, 3
2 JF 1 B 4 13, 567 13,413 154 1.1
=7 B - - G O A S v o M 1 1 0 0.0
1 B2 E AR A& RN 4E 1 1 0 0.0
5 pE )% A 1 1 0 0.0
1 B PE E H )% A 1 1 0 0.0
LA 7+ kR O B OY & 1 1 0 0.0
6 i A 4 1,261,515 1,162, 817 98, 698 8.5
1 1t = F i A 4 1,261,515 1,162, 817 98, 698 8.5
1 — & = F B A £ 1,261,515 1,162, 817 98, 698 8.5
7 3 I A 23, 339 11,344 11, 995 105. 7

,32,

B B
X 4 & #|
T T

B T R 1,814 Bl FHH 1,814
R N 9, 025, 402 LEXR TR 9,025, 402
S| v b 182, 949 BRI & 182,949
R 9 ¥ & 1,064 REESXEHDS 1,064
o8B & 1,596 x2,73=1, 064
H X % 12, 503 EXEHDS 12,503
o8B & 25,006 x 1,72=12, 503
W B % E 1k 1 HREELLESTTE 1
® & M4
R 5 R R 1 ERBRERMBRZEESERIRA 1
o B R e
ORI A
N O -3 588, 601 RIRHBFHEAS 588, 601
e N

(RSB HERRGY)
L R 3 310, 225 RIFEXIERAS 310, 225
- N

(R =%57)
Wk B fs 5 % 211, 055 BEKREESRAS 211, 055
N N
moE F R 30, 520 HEFR—HEERAL 30, 520
—REE A
M B R E Ak 65, 536 HRRELXESERAS 65, 586
X B OFEOE
N &
e D i 55, 528 T —ERERAE 55,528
— e EH A

GR) 7 FEILA
(I8)




HLON
ST N4 K DNt}

# H i Jis o ® B il
H X 53 & #E
M M M % T T
E O A E 4 KO B 20, 001 8,001 12, 000 150. 0
ik T 4 20, 001 8, 001 12, 000 150. 0 — % B AR 20, 000 — R REE TSRS 20, 000
ik W&
ARTER A PR 2 1 EBHEBHERESEHS 1
ik W&
A 3, 338 3, 343 A5 AO0. 1
T b AL 43 % 1 1 0 0.0 Oy & 1 A B 1
I & & 32 37 A5 A13.5 EHEH FE & 32 EHTEENSFEEBEERREHEEAGES 32
— & O R B F 3, 000 3, 000 0 0.0 — % R R 3, 000 — R REREE=ZBITAWN TS 3,000
5= F W F & B H WA A&
BT # R OB OFE % 100 100 0 0.0 pIEd 7o P e 100 BEHRRESE=FTAMTE 100
By O= #H M & & B EE WA 4
— R OB E R W & 201 201 0 0.0 — % R PR R 201 | 1 —MRBRREERETLREZZRME 200
b 0 4 2 —BERREERBEAEZEDEMEBEES 1
PIER [ R Tl 1 e 2 2 0 0.0 BB ORI 2 | 1 BEHRKRESERB/LEZEEME 1
pia i 4 ? BREHRIRESERBEAEZIZDEMEBEE 1
HrRrEZESZAHES 1 1 0 0.0 O 1| 1 BEES 1
e A 1 1 0 0.0 HE A 1 GEREIRA 1
JeE * H 4 0 3, 696 A3, 696 e BE %
JE #ifi i) % 0 3, 696 A3, 696 B BE 1A
R - Bl B A E 0 3, 696 A3, 696 K B H
AT AEWME M4

() [ i S HH 4
() Ve Al By 42

,33,



